a3 L T A T 20 47
36 P B PEPERAR Y ETHERR

VI7NT =R RIGRRESEGARET = Ra—MRERT T =25

AATE4A12H ($)
[+ 1 K]
(7))
Aoa—b [ 1|2 3| m| & e
| B @|@|2|0]1
2 | g | 0 @) 1] 1] 2
3 | kB | 0| 0 0|23

B (10-11a—F) || e 5|6 | 7 || & |mE
9 | 1
0

4 | JeERE R @] 1 2
5 | /NBpHEERE 1 1] 0 3 | 4
6 | AEPEE 1 | @ 1| 11] 2] 3
7| HEBEREK | © | ® | @ 3101
C (12a—h) 8 | 9 | 10| Bs | & |MEDEL
8 | EHPREE @@ 2] 0] 1
9 | /INEIRRERE | 0 0 o0 2| 3
10 | Bxagh2 | 1| O 1| 1] 2
(Y —2)
D (9:10a—Fh) Al | C2 | B2 | B | & |NEAE
Al R ELrp EARe @O 2|0 1
C2 | Hapuhr: | 0 1ol 23
B2 | dtakFdEKR | 0 | @ L1 | 2
E (11-12a—h) Cl | A2 | Bl | B | & |WEAL
Cl | b2 @@ 2] 01
A2 | WildrhaEgE 1 1o 2|3
Bl | WEBkEh2E | 1 | @ 1| 1] 2




€73

DI |  #hstoogs ?

DI | P
Bl | R
(3fir k]
D2 | dbakieEE

E2 | PR
B2 | mEBE R .
(3fi4fiz)—2]

F A3 | B4 [ B3 | C3 | B8 | & |IEpr

A3 | ke 11 |@| 1] 2] 3
BL| N | @ Ll@] 2] 1|2
B3| #HEhE | @ | @ @3 |01
C3 | MEFhr | 1| 0 | 0 0| 3| 4

XPRV—7 ., MV, & T —L=2yF TS,
MRV —T o1 =Ly F L35, MAMY—T R, 5T — L=y FLT 5,

XBHNITOWT
PRV, YeEV—7 ., 3P4V —71%, 2 THEZH LTS,
DS, SN ERI. YLV — 7 N DF— L H Y T 5,

XA ETORBUTIY, T—PEE UK 2MH REE. il RADHELTIVET,

ORI ZTHELEZ N,




